Advance Notice

March 9, 2016 Consent Agenda

<u>Supplemental Contracts/Employment Agreements</u> for co-curricular and additional assignments - Hechtman

ACTION TO BE TAKEN: I move the board approve supplemental contracts/employment agreements as presented.

NAME	ASSIGNMENT	AMOUNT			
Woldendorp, Kirsten	Supplemental FTE – SHS, 2 nd sem/7 th per, LA	\$3,794.93			
Fuller, Norm	TSE – SHS, Classroom, Winter II Session	\$1,524.00			
Heimdahl, Roger	TSE – IHS, Behind the Wheel, Winter II Session	\$1,614.60			
Heimdahl, Roger	TSE - SHS, Behind the Wheel, Winter II Session	n \$645.84			
Lehman, Dale	TSE - SHS, Behind the Wheel, Winter II Session	n \$2,583.36			
Robinson, Katherine	TSE - LHS, Behind the Wheel, Winter II Session	\$1,937.52			
Priestley Fine, Mary Lou	TSE - SHS, Behind the Wheel, Winter II Session	n \$645.84			
Thruelsen, Ronald	TSE – LHS, Classroom, Winter II Session	\$1,896.00			
Thruelsen, Ronald	TSE - LHS, Behind the Wheel, Winter II Session	\$1,291.68			
Middle School and High School Athletics Spring Season See follows:					

CO-CURRICULAR: MIDDLE SCHOOL - SEASON III/HIGH SCHOOL - SPRING

LOC	CO-CURRICULAR	START	END	FIRST NAME	LAST NAME	HRS	RATE	SAL.
PCMS	Basketball - Head B	1-Feb	31-Mar	Jayme	Miller	169	\$16.22	\$2,741
PCMS	Basketball - Assistant B	1-Feb	31-Mar	Jeff	Glover	160	\$15.23	\$2,437
PCMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Mike	Bailey	55	\$14.11	\$776
PCMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Travis	Conner	55	\$14.11	\$776
PCMS	Soccer - Head	1-Feb	31-Mar	Brian	Arnot	169	\$16.22	\$2,741
PCMS	Soccer - Assistant	1-Feb	31-Mar	Nicholas	Smead	160	\$15.23	\$2,437
PCMS	Soccer - Intramural Coordinator	1-Feb	31-Mar	McKenzie	Wincewicz	55	\$14.11	\$776
PLMS	Basketball - Head B	1-Feb	31-Mar	Eric	Ensey	169	\$16.22	\$2,741
PLMS	Basketball - Assistant B	1-Feb	31-Mar	Tom	Collins	160	\$15.23	\$2,437
PLMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Neely	Jarrell	55	\$14.11	\$776
PLMS	Soccer - Head	1-Feb	31-Mar	Ken	Peatross	169	\$16.22	\$2,741
PLMS	Soccer - Assistant	1-Feb	31-Mar	Sue	Swanson	160	\$15.23	\$2,437
PLMS	Soccer - Intramural Coordinator	1-Feb	31-Mar	Jeff	Jewell	55	\$14.11	\$776
IMS	Basketball - Head B	1-Feb	31-Mar	Mark	Dorsett	169	\$16.22	\$2,741
IMS	Basketball - Assistant B	1-Feb	31-Mar	Bob	Kirkham	160	\$15.23	\$2,437
IMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Jon	Enghusen	55	\$14.11	\$776
IMS	Soccer - Head	1-Feb	31-Mar	Demaree	Kieburtz	169	\$16.22	\$2,741
IMS	Soccer - Assistant	1-Feb	31-Mar	Alyssa	Eckhardt	160	\$15.23	\$2,437
IMS	Soccer - Intramural Coordinator	1-Feb	31-Mar	Sarah	Stover	55	\$14.11	\$776
BLMS	Basketball - Head B	1-Feb	31-Mar	Tim	Ireland	169	\$16.22	\$2,741
BLMS	Basketball - Assistant B	1-Feb	31-Mar	Bill	Brosseau	160	\$15.23	\$2,437
BLMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Lane	Helgeson	55	\$14.11	\$776
BLMS	Soccer - Head	1-Feb	31-Mar	Chris	Santos	169	\$16.22	\$2,741
BLMS	Soccer - Assistant	1-Feb	31-Mar	Pat	Dinsmore	160	\$15.23	\$2,437
BLMS	Soccer - Intramural Coordinator	1-Feb	31-Mar	Jim	Auld	55	\$14.11	\$776
MMS	Basketball - Head B	1-Feb	31-Mar	Nathan	Winegar	169	\$16.22	\$2,741
MMS	Basketball - Assistant B	1-Feb	31-Mar	Lee	Goldner	160	\$15.23	\$2,437
MMS	Basketball - Intramural Coordinator B	1-Feb	31-Mar	Ron	Ciraulo	55	\$14.11	\$776
MMS	Soccer - Head	1-Feb	31-Mar	Mike	Sullivan	169	\$16.22	\$2,741
MMS	Soccer - Assistant	1-Feb	31-Mar	Tim	Hemker	160	\$15.23	\$2,437
MMS	Soccer - Intramural Coordinator	1-Feb	31-Mar	Dawn	Loreen	55	\$14.11	\$776

CO-CURRICULAR: MIDDLE SCHOOL - SEASON III/HIGH SCHOOL - SPRING

LOC	CO-CURRICULAR	START	END	FIRST NAME	LAST NAME	HRS	RATE	SAL.
IHS	Baseball-Head	29-Feb	9-May	Rob	Reese	297	\$16.44	\$4,883
IHS	Baseball - C Assistant	29-Feb	9-May	Michael J	Miller	240	\$15.28	\$3,667
IHS	Baseball - JV Assistant	29-Feb	9-May	Stephen	Sanelli	240	\$15.28	\$3,667
IHS	Softball-Head	29-Feb	9-May	Ron	Hatlen	297	\$16.44	\$4,883
IHS	Softball - Varsity Assistant .20	29-Feb	9-May	Rod	Pierce	50	\$15.28	\$764
IHS	Soccer - Head (B)	29-Feb	2-May	Kyle	Tatro	297	\$16.44	\$4,883
IHS	Soccer - C Assistant (B)	29-Feb	2-May	Brian	Prouty	240	\$15.28	\$3,667
IHS	Soccer - JV Assistant (B)	29-Feb	2-May	Randall	Birkwood	240	\$15.28	\$3,667
IHS	Tennis - Head (G)	29-Feb	9-May	Christy	McGraw	260	\$16.44	\$4,274
IHS	Tennis - JV Assistant (G)	29-Feb	9-May	Jose	Diaz	220	\$15.28	\$3,362
IHS	Track - Head	29-Feb	9-May	Tracy	Silva	297	\$16.44	\$4,883
IHS	Track - Head	29-Feb	9-May	Mitch	Stuard	297	\$16.44	\$4,883
IHS	Track - Assistant	29-Feb	9-May	Laura	Schvaneveldt	220	\$15.28	\$3,362
IHS	Track - Assistant	29-Feb	9-May	Travis	Barnhart	220	\$15.28	\$3,362
IHS	Track - Assistant	29-Feb	9-May	Liz	Ryker	220	\$15.28	\$3,362
IHS	Track - Assistant	29-Feb	9-May	Charles	Upshaw	220	\$15.28	\$3,362
IHS	Track - Assistant .25	29-Feb	9-May	David	Seligman	220	\$15.28	\$3,362
IHS	Track - Assistant .75	29-Feb	9-May	Earle	Stuard	220	\$15.28	\$3,362
IHS	Golf (G)	29-Feb	9-May	Tom	Bakamus	223	\$16.44	\$3,666
SHS	Baseball-Head	29-Feb	9-May	Brandon	Hemphill	297	\$16.44	\$4,883
SHS	Baseball Assistant - (.50)	29-Feb	9-May	William	Buker	120	\$15.28	\$1,834
SHS	Baseball Assistant - (.50)	29-Feb	9-May	Eric	Skoglund	120	\$15.28	\$1,834
SHS	Baseball Assistant - (.50)	29-Feb	9-May	Kevin	Goodenough	120	\$15.28	\$1,834
SHS	Baseball Assistant - (.50)	29-Feb	9-May	Kyle	Salm	120	\$15.28	\$1,834
SHS	Baseball Assistant - (.50)	29-Feb	9-May	Steve	Darnell	120	\$15.28	\$1,834
SHS	Softball - Head	29-Feb	9-May	Lindsay	Sullivan	297	\$16.44	\$4,883
SHS	Softball - Assistant	29-Feb	9-May	Greg	Ewin	240	\$15.28	\$3,667
SHS	Soccer-Head (B)	29-Feb	2-May	Don	Braman	297	\$16.44	\$4,883
SHS	Soccer Assistant (.80)	29-Feb	2-May	Savannah	Gunning	192	\$15.28	\$2,934
SHS	Soccer Assistant (.80)	29-Feb	2-May	Daniel	Bechtel	192	\$15.28	\$2,934
SHS	Soccer Assistant - (.40)	29-Feb	2-May	Chuck	Krieble	96	\$15.28	\$1,467
SHS	Golf-Head (G)	29-Feb	9-May	Mike	Fleming	223	\$16.44	\$3,666

CO-CURRICULAR: MIDDLE SCHOOL - SEASON III/HIGH SCHOOL - SPRING

LOC	CO-CURRICULAR	START	END	FIRST NAME	LAST NAME	HRS	RATE	SAL.
SHS	Tennis-Head (G)	29-Feb	9-May	Bettina	Gehle	260	\$16.44	\$4,274
SHS	Tennis Assistant	29-Feb	9-May	Gerald	Grummer	220	\$15.28	\$3,362
SHS	Tennis-Asst (B) .46	29-Feb	9-May	Brad	Board	101	\$15.28	\$1,543
SHS	Track-Head	29-Feb	9-May	Dawn	Geiser	297	\$16.44	\$4,883
SHS	Track-Head	29-Feb	9-May	Michael	Seymour	297	\$16.44	\$4,883
SHS	Track Assistant .75	29-Feb	9-May	Brendan	Hyland	165	\$15.28	\$2,521
SHS	Track Assistant .75	29-Feb	9-May	Kevin	Merkling	165	\$15.28	\$2,521
SHS	Track Assistant	29-Feb	9-May	Evan	Flay	220	\$15.28	\$3,362
SHS	Track Assistant .75	29-Feb	9-May	Greg	Dalzell	165	\$15.28	\$2,521
SHS	Track Assistant .75	29-Feb	9-May	Kiara	Williams	165	\$15.28	\$2,521
SHS	Track - Assistant .50	29-Feb	9-May	Tyson	Swiftney	110	\$15.28	\$1,681
SHS	Track - Assistant .50	29-Feb	9-May	Cameron	Elisara	110	\$15.28	\$1,681
LHS	Baseball-Head	29-Feb	6-May	John	Martin	297	\$16.44	\$4,883
LHS	Baseball-Assistant (.50)	29-Feb	6-May	Brad	Anderson	120	\$15.28	\$1,834
LHS	Baseball-Assistant (.30)	29-Feb	6-May	Cameron	Talley	72	\$15.28	\$1,100
LHS	Softball-Head	29-Feb	6-May	Jon	Kinsley	297	\$16.44	\$4,883
LHS	Softball-Assistant .50	29-Feb	6-May	Stephanie	Siler	120	\$15.28	\$1,834
LHS	Softball-Assistant .50	29-Feb	6-May	Joe	Monger	120	\$15.28	\$1,834
LHS	Soccer-Head (B)	29-Feb	6-May	Darren	Tremblay	297	\$16.44	\$4,883
LHS	Soccer - Assistant (B)	29-Feb	6-May	Andy	Fickert	240	\$15.28	\$3,667
LHS	Soccer - Assistant (B)	29-Feb	6-May	Nick	Smead	240	\$15.28	\$3,667
LHS	Tennis - Head (G)	29-Feb	6-May	Mike	Salokas	260	\$16.44	\$4,274
LHS	Tennis-Assistant (G)	29-Feb	6-May	Kayla	Phillips	220	\$15.28	\$3,362
LHS	Track - Head (G)	29-Feb	6-May	Kelsey	Were	297	\$16.44	\$4,883
LHS	Track-Head (B)	29-Feb	6-May	Michael	Smith	297	\$16.44	\$4,883
LHS	Track-Assistant	29-Feb	6-May	Kaela	Yuen	220	\$15.28	\$3,362
LHS	Track-Assistant	29-Feb	6-May	Lauren	Fenn	220	\$15.28	\$3,362
LHS	Golf-Head (G)	29-Feb	6-May	Michelle	Warlick	223	\$16.44	\$3,666